**Tender No:** GSU-SNT-JP-2025-26-01 **Closing Date/Time:** 11/06/2025 15:30

**CPM/GSU/JP** acting for and on behalf of The President of India invites E-Tenders against Tender No **GSU-SNT-JP-2025-26-01** Closing Date/Time 11/06/2025 15:30 Hrs. Bidders will be able to submit their original/revised bids upto closing date and time only. Manual offers are not allowed against this tender, and any such manual offer received shall be ignored.

#### 1. NIT HEADER

Name of Work	Provision of Coach Guidance Display System on both Platforms at HDA, PSL, AIA, NDH, BAI, ARNA, DGW, MWW, BOBS,AEL, SAS,CKS, CHNN, SRAS,DPZ, SNGN,CKB & ISA (Total-18) and Replacement of Coach Guidance System on Both Platform at DPA (01 Station) Railway Stations of Jaipur (Two packet system)					
Bidding type	Normal Tender					
Tender Type	Open	Bidding System	Two Packet System			
Tender Closing Date Time	11/06/2025 15:30	Date Time Of Uploading Tender	19/05/2025 17:03			
Pre-Bid Conference Required	No	Pre-Bid Conference Date Time	Not Applicable			
Advertised Value	131242578.70	Tendering Section	GSUJP DIV.			
Bidding Style	Single Rate for Tender	Bidding Unit	Above/Below/Par			
Earnest Money (Rs.)	806200.00	Validity of Offer ( Days)	90			
Tender Doc. Cost (Rs.)	0.00	Period of Completion	12 Months			
Contract Type	Works - General	Contract Category	Expenditure			
Bidding Start Date	28/05/2025					
Are JV allowed to bid	Yes	Number of JV Member Allowed	3			
Are Consortium allowed to bid	No	Number of Consortium Member Allowed	0			
Ranking Order For Bids	Lowest to Highest	Expenditure Type	Capital (Works)			

### 2. SCHEDULE

S.No.	Item Code	Item Qty	Qty Unit	Unit Rate	Basic Value	Escl.(%)	Amount	Bidding Unit
Sched	<b>ule</b> () 1-S	ch. A NS item	ıs				112658399.17	
	NS1	19.00	Numbers	698025.58	13262486.02	AT Par	13262486.02	
1	along w		re vide spe				h central Data Sw th Amendment 1.0	
	NS2	19.00	Numbers	10968.97	208410.43	AT Par	208410.43	
2	Data Sv	vitch (CDS)	along with		vide spec no:-		oller (CDC) units w N/TC/108/2019 Ver	
	NS3	19.00	Numbers	142523.27	2707942.13	AT Par	2707942.13	
Description:- NS-03 Supply, installation, testing & commissioning of Cattached with battery trolley of reputed make like APC/Uni-line or other better specs.(Inspection Agency:- Consignee)						ning of On-	Line UPS 5 KVA as	per specs
5				•	like APC/Uni-line	e or other i	reputed make with	n similar oı
				- Consignee)		T	reputed make with 771186.40	similar o
4	NS4  Descrip Fan tray	20.00 tion:- NS-04	ion Agency: Numbers Supply and cable man	- Consignee) 38559.32 d installation of	771186.40 of19" 42U Rack v	AT Par	•	ical fitting
	NS4  Descrip Fan tray	20.00 tion:- NS-04 , PatchPanel	ion Agency: Numbers Supply and cable man	- Consignee) 38559.32 d installation of ager, SPD for	771186.40 of19" 42U Rack v r housing IP stor	AT Par vith allacce age unitas	771186.40 essories like Electr	ical fitting, attached.
	NS4  Descrip Fan tray Inspection NS5  Descrip manage	20.00  vtion:- NS-04 r, PatchPanel on byConsign 70.00  otion:- NS-05 r, 1 PDU wif	Numbers Supply and cable manage. Numbers Supply and cable manage. Numbers Supply ,	- Consignee)  38559.32 d installation of ager, SPD for 2786.55 installation,	771186.40 of19" 42U Rack v r housing IP stor 195058.50 testing and com nuts, 1 No. Fan	AT Par vith allacce age unitas AT Par nmisioning	771186.40 essories like Electr per specification	ical fitting, attached.
4	NS4  Descrip Fan tray Inspection NS5  Descrip manage	20.00  vtion:- NS-04 r, PatchPanel on byConsign 70.00  otion:- NS-05 r, 1 PDU wif	Numbers Supply and cable manage. Numbers Supply and cable manage. Numbers Supply ,	- Consignee) 38559.32 d installation charger, SPD for 2786.55 installation, ts, 20 screw an Agency:- Co	771186.40 of19" 42U Rack v r housing IP stor 195058.50 testing and com nuts, 1 No. Fan nsignee)	AT Par vith allacce age unitas AT Par nmisioning with 500	771186.40 essories like Electr per specification 195058.50 of 9 U rack wit MM depth of Ma	ical fitting, attached.
4	better sponsor NS4  Descrip Fan tray Inspection NS5  Descrip manage VALRAC NS6  Descrip control NS6	20.00  ition:- NS-04  7, PatchPanel  70.00  ption:- NS-05  7, 1 PDU wit  K/PRESIDENT  10.00  i ption:- I	Numbers Supply and cable man ee. Numbers Supply , th 5 Socket (Inspection Numbers	- Consignee)  38559.32 d installation charger, SPD for 2786.55 installation, ts, 20 screw Agency:- Co 608279.43 Supply	771186.40 of19" 42U Rack v r housing IP stor  195058.50 testing and com nuts, 1 No. Fan nsignee)  6082794.30 of 5 Lin	AT Par vith allacce age unitas AT Par nmisioning with 500 AT Par ne mu	771186.40 essories like Electres per specification 195058.50 of 9 U rack with MM depth of Ma	ical fitting, attached. th 2 cable ake : HCL,

**Tender No:** GSU-SNT-JP-2025-26-01 **Closing Date/Time:** 11/06/2025 15:30

Description:- NS-07 Installation & Commissioning of 5 Lin as perRDSO/SPN/TC/108/2019Ver 0.0 with Amendment1 fixturesrequired for commissioningof the multiline train dis NS8 80.00 Numbers 174506.40 1396051  Description:- NS-08 Supply of Single line double faced RDSORDSO/SPN/TC/108/2019Ver 0.0 with Amendment1.0 NS9 80.00 Numbers 13402.09 107216  Description:- NS-09 Installation & Commissioning of Sin Displayboard. This includes allrequired accessoriesrequarrangements to commissioning the item. (Inspection Age NS10 38.00 Numbers 225110.42 855419  Description:- NS-10 Supply, Installation, testing & comm Glance Display Board (AGDB) as per RDSO spec no:- (Inspection Agency:- RDSO)  NS11 1078.00 Numbers 29606.98 3191632  Description:- NS-11 Supply of Double Faced Commissioning NS-12 Supply NS-1	0 or latest . This includesall accessories, splayboard.(Inspection Agency:- Consignee) 12.00 AT Par 13960512.00  TrainArrival/Departure DisplayBoards as per or latest (Inspection Agency:- RDSO) 67.20 AT Par 1072167.20
NS8 80.00 Numbers 174506.40 1396051  Description:- NS-08 Supply of Single line double faced RDSORDSO/SPN/TC/108/2019Ver 0.0 with Amendment1.0  NS9 80.00 Numbers 13402.09 107216  Description:- NS-09 Installation & Commissioning of Sin Displayboard. This includes allrequired accessoriesrequarrangements to commissioning the item. (Inspection Age NS10 38.00 Numbers 225110.42 855419  Description:- NS-10 Supply, Installation, testing & comm Glance Display Board (AGDB) as per RDSO spec no:- (Inspection Agency:- RDSO)  NS11 1078.00 Numbers 29606.98 3191632	TrainArrival/Departure DisplayBoards as per or latest (Inspection Agency:- RDSO)  AT Par 1072167.20
Pescription:- NS-08 Supply of Single line double faced RDSORDSO/SPN/TC/108/2019Ver 0.0 with Amendment1.0  NS9 80.00 Numbers 13402.09 107216  Pescription:- NS-09 Installation & Commissioning of Sin Displayboard. This includes allrequired accessories requarrangements to commissioning the item. (Inspection Age NS10 38.00 Numbers 225110.42 855419  Pescription:- NS-10 Supply, Installation, testing & comm Glance Display Board (AGDB) as per RDSO spec no:- (Inspection Agency:- RDSO)  NS11 1078.00 Numbers 29606.98 3191632	TrainArrival/Departure DisplayBoards as per or latest (Inspection Agency:- RDSO)  67.20 AT Par 1072167.20
RDSORDSO/SPN/TC/108/2019Ver 0.0 with Amendment1.0  NS9 80.00 Numbers 13402.09 107216  Description:- NS-09 Installation & Commissioning of Sin Displayboard. This includes allrequired accessories requarrangements to commissioning the item. (Inspection Age NS10 38.00 Numbers 225110.42 855419  Description:- NS-10 Supply, Installation, testing & comm Glance Display Board (AGDB) as per RDSO spec no:- (Inspection Agency:- RDSO)  NS11 1078.00 Numbers 29606.98 3191632	or latest (Inspection Agency:- RDSO)  7.20 AT Par 1072167.20
Description:- NS-09 Installation &commissioning of Sin Displayboard. This includes allrequired accessoriesrequarrangements to commissioning the item. (Inspection Age NS10 38.00 Numbers 225110.42 855419  Description:- NS-10 Supply, Installation, testing & comm Glance Display Board (AGDB) as per RDSO spec no:- (Inspection Agency:- RDSO)  NS11 1078.00 Numbers 29606.98 3191632	
Displayboard. This includes allrequired accessoriesrequarrangements to commissioning the item. (Inspection Age  NS10 38.00 Numbers 225110.42 855419  Description:- NS-10 Supply, Installation, testing & comm Glance Display Board (AGDB) as per RDSO spec no:- (Inspection Agency:- RDSO)  NS11 1078.00 Numbers 29606.98 3191632	
Displayboard. This includes allrequired accessoriesrequarrangements to commissioning the item. (Inspection Age  NS10 38.00 Numbers 225110.42 855419  Description:- NS-10 Supply, Installation, testing & comm Glance Display Board (AGDB) as per RDSO spec no:- (Inspection Agency:- RDSO)  NS11 1078.00 Numbers 29606.98 3191632	
NS10 38.00 Numbers 225110.42 855419  Description:- NS-10 Supply, Installation, testing & comm Glance Display Board (AGDB) as per RDSO spec no:- (Inspection Agency:- RDSO)  NS11 1078.00 Numbers 29606.98 3191632	
Description:- NS-10 Supply, Installation, testing & comm Glance Display Board (AGDB) as per RDSO spec no:- (Inspection Agency:- RDSO)  NS11 1078.00 Numbers 29606.98 3191632	
Glance Display Board (AGDB) as per RDSO spec no:- (Inspection Agency:- RDSO)  NS11 1078.00 Numbers 29606.98 3191632	
NS11 1078.00 Numbers 29606.98 3191632	
	24.44 AT Par 31916324.44
RDSO/SPN/TC/108/2019 Ver 0.0 with Amendment 1.0 or la	Coach Guidance Display Boardsas per
NS12 130.00 Numbers 3947.60 51318	38.00 AT Par 513188.00
Description:- NS-12 Installation & commissioning of Doul	
shade area This includes all required accessories requ arrangements to commissioning the item.(Inspection Ager	ncy:- CONSIGNEE)
NS13 948.00 Numbers 7895.19 748464	
Description:- NS-13 Installation & commissioning of Dou open area This includes all required accessories includerarrangements to commissioning the item. Rain hood/sundisplay boards.(Inspection Agency:- CONSIGNEE)	luding hanging structure, pole and fixing
NS14 20.00 Numbers 70122.84 140245	66.80 AT Par 1402456.80
Description:- NS-14 Supply of 47" Video WallPanel 4.9m HDprofessional display,daisychain support, 24x7oper StarRating:5, Weight: shouldnot be more than 17kgs,Make	rations. Certifications :UL/CB/TUV/FCC/CE,
anysuperior make.(InspectionAgency:- Consignee)	
NS15 20.00 Numbers 13977.68 27955  Description:- NS-15 Video wall installation with Hydraulic	
forsafety and good looking. Inspection : Consignee	e video wan mountsand cover the video wan
NS16 20.00 Numbers 14428.57 28857	=
Description:- NS-16 Supply of HDMI/video signal switch Consignee)	
NS17 25.00 Numbers 54974.31 137435	
Description:- NS-17 Supply & installation of 55"LED UHD UP 7740PTZ/Samsung/Sony/ or anyother reputed make attached)(Inspection Agency:-Consignee).	
NS18 20.00 Numbers 61363.16 122726	53.20 AT Par 1227263.20
Description:- NS-18 Supply and installation of 24 port Gigabit Ethernet ports, 4 x1G SFP uplink ports populate makeup link ports as per RDSO specification No. RDS CISCO/JUNIPER or any other makemeeting to RDSOspecific rate is inclusive of GST @ 18% and item is to be inspected	ed with one 1G SFP module of same OEM O/SPN/TC/83/2020 Rev2.0 or latest. Make: cations mentioned and enclosed. (Note: Item I by RITES.
NS19 100.00 Numbers 7515.84 75158	
Description:- NS-19 Supply & Installation of LIU for 6X2 f cord minimum length 5mtrs including splicing work. It 01/02.AUG 05 (TEC Standard Number: TEC52010:2005) v by Consignee.	t Shall comply toTEC GR No. TEC/GR/SLC-
NS20 51000.00 Metre 26.55 135405	50.00 AT Par 1354050.00
Description:- NS-20 Supply of OFC single mode6 Fibe siterequirement and instructiongiven by site in-charge. TIA/EIA-568B or latest standards from reputed make. (Inspe	. TheCat-6 cable should becompliant with
NS21 70000.00 Metre 25.90 181300	
Description:- NS-21 Laying of communication cable (O strand cable with one inch dia PVC conduit pipe/HDPE p LED based Train Indication Board, Coach Guidance Boards platform sheltor area. On the platform shelter with adequaling and installation/clamping charges of PVC pipe/H addition to laying of communication cable.(Inspection Age	pipe from centralized control console unit to setc inside platform shelter area and outside uate protective measures. The rate includes IDPE pipe with protective arrangements in

Page 2 of 15 Run Date/Time: 19/05/2025 17:03:53

**Tender No:** GSU-SNT-JP-2025-26-01 **Closing Date/Time:** 11/06/2025 15:30

	NS22 8000.00 Metre 9.93 79440.00 AT Par 79440.00
22	<b>Description:-</b> NS-22 supply of 1" dia heavy dutyPVC conduit ISI mark/HDPE duct withaccessories like bend, tee,sadle, elbow etc. requiredduring installation & fixingthe same.(InspectionAgency:-Consignee)
	NS23 42000.00 Metre 35.98 1511160.00 AT Par 1511160.00
23	<b>Description:-</b> NS-23 Laying of power cable with one inch dia PVC conduit pipe/HDPE pipe from centralized control console unit to LED based Train Indication Board, Coach Guidance Boards etc inside platform shelter area and outside platform sheltor area. On the platform shelter with adequate protective measures. The rate includes laying and installation/clamping charges of PVC pipe/HDPE pipe with protective arrangements in addition to laying of communication cable.(Inspection Agency:-CONSIGNEE)
	NS24 10.00 Numbers 18044.35 180443.50 AT Par 180443.50
24	<b>Description:-</b> NS-24 Supply of External SolidState Drive (Portable SSD) of 2TB Capacity, up to1050MB/s USB 3.2.(Inspection Agency:-Consignee)
2.5	NS25 19.00 Numbers 3682.25 69962.75 AT Par 69962.75
25	<b>Description:-</b> NS-25Supply installation, testing and commissioning of CAT624 Port fully populated Patch Panel 19" Rack Mounted Make D-Link or similar.(Inspection Agency:-Consignee)
	NS26 5.00 Numbers 58825.33 294126.65 AT Par 294126.65
26	<b>Description:-</b> NS-26 Supply of Portable workstation notebook with specification as intel core i5, 14", window 10 professional, 11 th procesor generation, RAM 8 GB, type-DDR4, SSD-512GB, graphic card intel IrisXe make HP or Dell or other reputed make with similar or better specs. (Inspection Agency:-Consignee)
	NS27 15200.00 Metre 218.12 3315424.00 AT Par 3315424.00
27	<b>Description:-</b> NS-27 Cutting of the platform surface (Tile/Slab) for a depth of 25cm and a width of 10cms and refilling/ Reconditioning/ Concerting/ Repairing the platform after laying HDPE pipe and cable. Cutting should be done with marble cutting machine in proper manner and restore the same as before in such a manner that aesthetic of the platform is not disturbed.(Inspection Agency:-CONSIGNEE)
20	NS28 42.00 Numbers 36895.64 1549616.88 AT Par 1549616.88
28	<b>Description:-</b> NS-28 Supply of Platform Data Controllers per RDSO/SPN/TC/108/2019 Ver 0.0 with Amendment 1.0 or latest. (Inspection Agency:- RDSO)
29	NS29   42.00   Numbers   2792.11   117268.62   AT Par   117268.62
29	<b>Description:-</b> NS-29 Installation & commissioning of Platform Data Controller as per RDSO/SPN/TC/108/2019 Ver 0.0 with Amendment 1.0 or latest .(Inspection Agency:- CONSIGNEE)
30	NS30 22.00 Numbers 14157.00 311454.00 AT Par 311454.00 Description:- NS-30 Supply of Alco Aluminium ladder, 8 ft. Model no. Al-109 or similar. (Inspection
30	Agency:- CONSIGNEE)
31	NS31 8.00 Numbers 17843.70 142749.60 AT Par 142749.60
31	<b>Description:-</b> NS-31 Supply and installation of ahuja 1 way Portable Pa System ahuja(ASL-3000R). (Inspection Agency:- CONSIGNEE)
	NS32 19.00 Numbers 209026.20 3971497.80 AT Par 3971497.80
32	<b>Description:-</b> NS-32 Supply of Remote Monitoring System with NMS. (Inspection Agency:-CONSIGNEE)
	NS33 200.00 Metre 2421.65 484330.00 AT Par 484330.00
33	<b>Description:-</b> NS-33 Supply and Placing of PolyolefinCable channel of size, Width240/340 mm, Height 155/230internal/external, length 1mproduced of polyolefin with Fireprotection class k-1 in accordancewith DIN-53438 Part II for layingSignalling/Telecom cables, channelattachable to each other withmale- female swallow tailconnectors and having suitabledetachable cover. (Inspection Agency:- CONSIGNEE)
	NS34 19.00 Numbers 8666.94 164671.86 AT Par 164671.86
34	<b>Description:-</b> NS-34 Installation & Configuration of Remote Monitoring System (RMS) & NMS. (Inspection Agency:- CONSIGNEE)
	NS36 22.00 Set 6502.39 143052.58 AT Par 143052.58
35	<b>Description:-</b> NS-36 Supply of Class B and C Surge protection Device [SPD] - Type I and II with Visual Indication and Potential free contact to remote monitoring as per Specification No. RDSO/SPN/165/2012 Ver 3.0 or latest and IEC standard 61643 for Single line 230V AC application with handling Lightning surges of 10/350 microseconds and Switching surges of 8/20 microseconds .One Set consists of 3 nos. of SPD [2 No. of B Class [L-N, N-E] and one no. of C Class [L N] all enclosed in a Box with KEMA or VDE certified as per latest IEC 61643-11-2011 Standard. Class B and C Surge protection device required with Three modules only.Inspection By Consignee
	NS37 22.00 Numbers 295.00 6490.00 AT Par 6490.00
36	<b>Description:-</b> NS-37 Installation of Class B & C Surge protection Device (SPD) -Type I & II. All fitting material to be provided by the contractor

Page 3 of 15 Run Date/Time: 19/05/2025 17:03:53

**Tender No:** GSU-SNT-JP-2025-26-01 **Closing Date/Time:** 11/06/2025 15:30

	NS38 30.00 Pair 5377.79 161333.70 AT Par 161333.70
37	Description:- NS-38 Supply, installation, testing, wiring & commissioning of single mode Media
31	Converter [Copper] fiber to Ethernet as per clause no. 16 of RDSO Specification No RDSO/ SPN/ TC/ 65 2021 Version 6.0 or latest. Inspection By Consignee
	NS39 10.00 Numbers 73766.16 737661.60 AT Par 737661.60
38	<b>Description:-</b> NS-39 Supply of Local Craft Terminal(LCT) as 23.8 inch all in one with GeM product ID 5116877-11278289352
	NS40 10.00 Numbers 30750.00 307500.00 AT Par 307500.00
39	<b>Description:-</b> NS-40 Multifunction Machines Mfm, On Site OEM Warranty 3 Year(Kyocera/HP or superior)
	NS41 420.00 Metre 67.90 28518.00 AT Par 28518.00
	Description:- NS-41 Concealed wiring of cat-6cable/telephone cable/ OFCcable in the PV
	pipe/PVCchannel by making groove inthe wall, fixing the PVC pipewith clamps, nails and plastering and distempering to make it as it was earlier asper instructions of engineer-in-charge. This includes laying
40	and fixing of all thePVC pipes as per color insystematic way as perinstruction of Rly. Engg. atsite
40	required for laying of alltypes of cables for RailNet, telephone connection etc., Allthe sundry items fo
	the workhas to be supplied by thecontractor. Railways willsupply telephone cables/Cat-6 cables and PVCpipe/channels. All thetelecom cables will be drawnfrom the specified location, approved drawing
	Thepayment would be made asper layout of grove made inthe wall, irrespective of how many pipe
	(maximum threepipes) are laid and how manycables drawn through thesepipes
	NS42 40.00 Numbers 11119.28 444771.20 AT Par 444771.20
41	Description:- NS-42 Supply of Full HD Bullet Type IP Colour camera with Housing. Mount and al
	otheraccessories for fixing ofcameras as per RDSO spec.No: RDSO/SPN/TC/65/2021Ver 6.0 or lates (Inspectionby RDSO).
	NS43 40.00 Numbers 1418.03 56721.20 AT Par 56721.20
	<b>Description:-</b> NS-43 Installation, Testing &Comissioning of Full HDBullet Type IP Colour cameraalong
42	with Housing, Mount.All the accessories and fixingmaterials required for thisinstallation are to
	besupplied by contractor withinthe same cost.
	NS44 6.00 Numbers 7599.09 45594.54 AT Par 45594.54
43	Description:- NS-44 Supply & Installation of 8channel NVR compatiblewith cameras of scheduleiten
	no.1 (Inspection byRITES)
44	NS45 10.00 Numbers 7375.15 73751.50 AT Par 73751.50
44	<b>Description:-</b> NS-45 Supply and installation of 4TB surveillance Hard Diskused for NVR (Inspection by Consignee)
	NS46 25.00 Numbers 11599.55 289988.75 AT Par 289988.75
45	<b>Description:-</b> NS-46"Supply, installation, testing& commissioning of Layer-2Switch (8 Port POR GigaManaged Switch) for Fieldas per RDSO SpecificationNo RDSO/SPN/TC/65/2021Version 6.0 or
	latest.(Inspection by RITES)
	NS47 10.00 Numbers 23506.79 235067.90 AT Par 235067.90
46	<b>Description:-</b> NS-47 Supply, Installation andtesting of Android highdefinition 32"" colorLCD/LEI Monitor with HDMIport & Cables make LG,Samsung, Soni. Allinstallation accessories tobe part of thi
	item.(Inspection by RITES)
	NS48 100.00 Numbers 562.93 56293.00 AT Par 56293.00
47	Description:- NS-48 Supply and installation of Two pole MCB for electronic equipments as per IS
.,	Standard with current rating 6A to 32A as per site requirement in suitable PVC/ Metallic Box
	Inspection By Consignee
	NS49 30.00 Numbers 2864.50 85935.00 AT Par 85935.00
	<b>Description:-</b> NS-49 Supply, transportation, installation, testing and commissioning of Wi-Fi Access controller High Power Wireless Router, 450 Mbps or better along with all accessories. Speficication
	Network Security - SPI Firewall, Access Control, IP & MAC Binding, Application Layer Gateway; Gues
48	Network - 1x 2.4 GHz Guest Network; VPN Server - Open VPN, PPTP; WiFi Encryption - WEP, WPA
	WPA2, WPA/WPA2-Enterprise (802.1x); Standards - Wi-Fi 4 (IEEE 802.11n/b/g 2.4 GHz); WiFi Speeds - N450 (2.4 GHz: 450 Mbps (802.11n)); Processor - Single-Core CPU; Ethernet Ports - 1x 10/100 Mbp
	WAN Port, 4x 10/100 Mbps LAN Ports; Protocols - IPv4, IPv6; WAN Types - Dynamic IP, Static IP, PPPoE
	PPTP, L2TP; Quality of Service - QoS by Device; Make- TP-Link or better. Inspection: Consignee.
49	NS50 10.00 Numbers 3796.80 37968.00 AT Par 37968.00
	<b>Description:-</b> NS-50 1KVA/1.5KVA online UPSwith min. 30 minbatterybackup(having 2Battery)
	NS51 5.00 Numbers 47450.00 237250.00 AT Par 237250.00
50	<b>Description:-</b> NS-51 SUPPLY TOOL & TESTING EQUIPMENT FOR OFC CABLE (OFC POWER METER 1310/1550 &OFC POWER SOURCE /GENRATOR 650/1310/1550 NM) WITH TOOL BOX AS PER TECNICAL
	SPECIFICATION NO.TEC/GR/TX/COI002/02 NOV   NS52

Page 4 of 15 Run Date/Time: 19/05/2025 17:03:53

**Tender No:** GSU-SNT-JP-2025-26-01 **Closing Date/Time:** 11/06/2025 15:30

S.No.	Item Code	Item Qty	Qty Unit	Unit Rate	Basic Value	Escl.(%)	Amount	Bidding Unit
	Inspection	n:Consignee	9.		-			
63	NS64 Descrip	10.00 <b>tion:-</b> NS-6		9431.45 of 12 Volts/1		AT Par attery Ma	94314.50 ike: Exide/Amrara	1
	Inspection	n:Consignee	2.					
62					34230.00 utton caller ID		make: Beetel	l .
61	BatteryS speaker	tandby Time	volume (ad Inspection:	ttery TalkTim djustable),low Consignee.	e 3 Hrs, with Ala battery warnin	rm Clock	withsnooz, calcula & dataON displa	ator, 2-way y on LCD
<b>C1</b>	Descrip	tion:- NS-62	2 Supply of	Wireless Ph	one FCT to supp	ort LTE, 5	98422.09 G and 4 G net 4GHotSpot upto	work , CL
		Inspection:	Consignee.				98422.09	_
60	NS61 <b>Descrip</b>	30.00 <b>tion:-</b> NS-61		2940.19 digital Multim			88205.70 digit display mak	
	only.9) V No. each above to	Vrapping Too of reputed ools. (Inspect	ols-01 No. 1 make SOLD ion by Cons	0) Twezeer-01 RON/ GOOT/ H ignee)	l No.11) Solderir HAKKO only.12) To	g Iron-25\ ool bag of s	ake Taparia/ Boso N/220Volts & 65V suitable size to ke	V/220V-01 ep & carry
59	<b>Descrip</b> No. 2) C gms)-01	<b>tion:-</b> NS-60 utter Diagon No.5) Hack	Supply of al (200mm) Saw Small	Tool Kit consi - 01 No.3) Ins and big -1 N	sting of following sulated Screw Dr Io. each 6) Span	tools 1) I iver Set -0 ner Set-0	Long Nose Plier (2 1 No. 4) Hammer 1 No. 7) Stripper-	200mm)-0: Steel (50 01 No. 8
<u> </u>		for data tra	nsmission o	n OFC/Quad/N	licrowave Radio.	(Inspection	lems working on n by Consignee) 229500.00	
58	NS59	8.00						
57	ports, su	pporting po	rt isolation a	and with built	ers with one Fibe	r port (SC ply. Mode	120050.20 connector) and fo l: FABIO 104L of r on byConsignee)	ur Etherne
	Gamut 9 superior approve	92% (DCI-P3 model with d and 3 year	, CIE 1976) OEM Manufa s of warrant	Operation Facturer author y.	lour16/7 Haze28 rization form, ISO	% Make: 1 45000:1	1.07B (Ditherd 10 Samsung, Model certification, BIS, 0	QM-85R o CE, FCC, U
56	spectrun Powerful Resolutio 1872.0(H	n of colors, u All in One on3840*2160 H) x 1053.01	up to one b Solution, W ) (4K UHD .(V), Bright	illion shades, /IFI and Blue ), Pixel Pitch ness (Typ.)350	Incredible 4K pic tooth Built in. D (mm)0.4875 x O nit Contrast Ra	ture Quali iagonal Si 0.4875, tio4000:1	ows viewers to en ity, Dynamic Crys ze85"", TypeEdge Active Display / Viewing Angle (H	tal Display LED BLU Area (mm /V)178/178
	NS57 <b>Descrip</b> UHD dis	2.00 <b>tion:-</b> NS-57 play that pr	Numbers 7 Supply, In ovides visib	358040.00 stallation & o ility from all	716080.00 commissioning of angles, anytime	AT Par 85 inch of day al	716080.00 Display with Sma lowing businesses	art Remote s to delive
55	faceplate	e with com	Supply &   pleteaccess	ories. It Sha	RJ-45 I/O box wit	hSMB (sui	23273.60 table for CAT6 UT TEC/GR/SLC -01/0 nspection by Cons	TP cable) & 02.AUG 0!
54	byConsi	gnee.					or Fluke orbetter	
	NS55	20.00	Numbers	1017.07	20341.40	AT Par	20341.40	
53			4 Supply of	Professional		ndmodel N	103298.00 Io.Bosch GSB600 ion byConsignee	
52	Ethernet	port along N/TC/82/202	g with 230	v power ada	apter of suitable	e power	04 Nos. of 10/1 rating as per s teway/Team engir	pecificatio
	NS53	10.00	Pair	18762.00	187620.00	AT Par	187620.00	
					r similar. ( Warra	nty Period	l : Upto 30 month	

Page 5 of 15 Run Date/Time: 19/05/2025 17:03:53

**Tender No:** GSU-SNT-JP-2025-26-01 **Closing Date/Time:** 11/06/2025 15:30

Sched	ale () 2-Sch. B SOR -2020 items	18584179.53			
2	Please see Item Breakup for details.	18584179.53	AT Par	18584179.53	
2	Description:- Sch. B SOR -2020 items				

### 3. ITEM BREAKUP

Item- 2		2-Sch. B SOR -2020 items R -2020 items				
S No.	Item No	1	Unit	Otv	Data	Amount
3 NO.		Description of Item Supply of maintainer's furniture of godrej	Set	<b>Qty</b> 10.00	<b>Rate</b> 22986.88	229868.80
		make or superior and each set consist of(i) executive revolving bearing series low back-floating chair with normal arms cushioned chair-01 Nos. (ii) Executive table size 1650x900x728 mm with 3 drawers one side locker- 01 no .(iii) visitor chair seat & back cushion with high density foam with plastic pvc handle capsule type painted back-03 nos. Inspection: Consignee Inspection charges: None Payment terms:100% after supply.				
2	04010300	Supply of 1 x 10 Sqmm (Red/Black/Green) multi strand copper power wire as per IS:694:2010 or latest, 140 conductor each dia 0.30 +/- 0.01 with insulation thickness of 1.0 mm and nominal conductor resistance of 1.91 ohms/km and test parameters as per RDSO Specn.No.IRS:S-76/89(Amnd.3) or latest.Colour of the wire which is required will be specified by the Engineer incharge. Inspection: (i) RDSO/RITES if value of item in work more than 5 lakhs (ii) Consignee subject to procurement from RDSO approved vendors if value of whole item in work less than 5 lakhs as per extant instructions by Railway Board. Inspection Charges: (i)Borne by Railways (ii) None Payment Terms: 100% on Supply		300.00	57.53	17259.00
3	04010400	Supply of 1 x 16 Sqmm (Red/Black/Green) multi strand copper power wire as per IS:694:2010 or latest, 127 conductor each dia 0.40 +/- 0.01 with insulation thickness of 1.0 mm and nominal conductor resistance of 1.21 ohms/km and test parameters as per RDSO Specn.No.IRS:S-76/89(Amnd.3) or latest.Colour of the wire which is required will be specified by the Engineer incharge. Inspection: (i) RDSO/RITES if value of item in work more than 5 lakhs (ii) Consignee subject to procurement from RDSO approved vendors if value of whole item in work less than 5 lakhs as per extant instructions by Railway Board. Inspection Charges: (i)Borne by Railways(ii) None Payment Terms: 100% on Supply		200.00	99.45	19890.00

Page 6 of 15 Run Date/Time: 19/05/2025 17:03:53

**Tender No:** GSU-SNT-JP-2025-26-01 **Closing Date/Time:** 11/06/2025 15:30

4	04010600	Supply of 1 x 35 Sqmm (Red/Black/Green) multi strand copper power wire as per IS:694:2010 or latest, 277 conductor each dia 0.40 +/- 0.01 with insulation thickness of 1.2 mm and nominal conductor resistance of 0.554 ohms/km and test parameters as per RDSO Specn.No.IRS:S-76/89(Amnd.3) or latest. Colour of the wire which is required will be specified by the Engineer incharge. Inspection: (i) RDSO/RITES if value of item in work more than 5 lakhs (ii) Consignee subject to procurement from RDSO approved vendors if value of whole item in work less than 5 lakhs as per extant instructions by Railway Board. Inspection Charges: (i)Borne by Railways (ii) None Payment Terms: 100% on Supply		100.00	176.93	17693.00
5	10011400		Numbers	10.00	16271.42	162714.20
6	12010200	Supply of Medium class GI pipes 100 mm dia(4.5 mm thickness) as per IS 1239 ( Part 1 ): 2004 with coupling on culverts bridges as per Drg.No.CSTE/NWR/SOR/06 to 12 or at any other locations as decided by Site Engineer. It includes supply of all material required for fixing arrangement. Contractor will also supply flexible/corrugated HDPE pipe at the end of GI pipe to protect the cables from sharp edges and sudden bends. Inspection: Consignee Inspection Charges: None. Payment Terms: 100% after Supply.	Metre	150.00	760.66	114099.00
7	12010300	Fixing of Medium class GI pipes 100 mm dia(4.5 mm thickness) as per IS 1239 ( Part 1 ): 2004 with coupling on culverts bridges as per Drg.No.CSTE/NWR/SOR/06 to 12 or at any other locations as decided by Site Engineer. It includes installation of all material required for fixing arrangement. Contractor will install flexible/corrugated HDPE pipe at the end of GI pipe along with any masonry work(if required) to protect the cables from sharp edges and sudden bends. Inspection: Consignee Inspection Charges: None. Payment Terms: 100% after installation.	Metre	150.00	190.17	28525.50
8	12012000	Supply of Thermo shrink Universal Jointing kit for Quad Cable (for straight joints) as per RDSO spec IRS/TC-77/2012 revision 3 With latest Amd. Inspection: RDSO Inspection Charges: Borne by Railways Payment Terms: 100% after Supply	Numbers	50.00	2148.73	107436.50

Page 7 of 15 Run Date/Time: 19/05/2025 17:03:53

**Tender No:** GSU-SNT-JP-2025-26-01 **Closing Date/Time:** 11/06/2025 15:30

0	12012222	Hadrantal discretion delition (C. 1977)	Mak	1000.00	1202.27	2205642.62
9	12012200	Horizontal direction drilling/boring without damage of surface road /track using Auger Machine(HDD machine). The bore shall be upto 200 mm dia & shall be done at the depth of minimum 1200 mm from the ground level. The ground level shall be considered ignoring the bank height of the bank of the road. The length of the bore shall be minimum 4 Mtrs long. This include insertion of different dia DWC-HDPE pipe/GI pipes coupling etc. as per direction of Engineer In charge. Note:- Pipe Supply is not covered under this item. Contactor shall provide all material required for boring and adequate nos. of labours for proper laying of cables into the bore. Cable shall be laid cautiously so that it should not get damage due to rough handling & pressure on cable. Inspection: Consignee Inspection Charges: None. Payment Terms: 100% after Execution.		1900.00	1202.97	2285643.00
10	12014100	Laying of S&T Cables of various cores/pairs/ quads in trenches/ GI pipes/ RCC pipes/ DWC pipes/ Trunking. This also includes laying of cables in track crossings & road crossings. Item includes provision of labels of coloured plastic adhesive tapes or any other identifiable material on each cable to give the cable number at each Gantry Post/hectometer post.(Cables will be meggered before and after its laying by contractor under supervision of Railway Representative and he will submit the meggering report of each testing). Length of the cable laid includes the length of the cable coiled for termination purposes. Inspection: Consignee Inspection Charges: None. Payment Terms: 100% after Execution(unit is RM running meter)		1900.00	9.10	17290.00
11	13010300	Supply of basic material to construct unit maintenance free earth as per RDSO Specs. No RDSO/SPN/197/2008 or latest and conforming to RDSO Drg.No.SDO/RDSO/E&B/001 dtd.19.09.08 . It consist of following: (a) Copper bonded steel electrode of 3.0 m long, 17.2 mm dia with copper bonding thickness of minimum macrons and UL listed and marked = 1 no. (b) Earth enhancement material supplied in sealed bags of minimum 10 kg = 3 nos. © Copper strip of 150x25x6 mm, to terminate earth rod = 1 no. (d) Copper strip of 300x25x6 mm (MEEB) = 1 no. (e) Copper strip of 150x25x6mm (SEEB) = 1 no. (ii) Supply of 35 sq. mm multi strand single core PVC insulated copper cable as per IS: 694 for connecting main earth electrode to MEEB in the equipment room in duplicate.(minimum 10 meter) (iii) Supply of 16 sq. mm multi strand single core PVC insulated copper cable as per IS: 694 for connecting MEEB to SEEB and SPD to MEEB (minimum 10 meter) (iv) Supply of 10 sq. mm multi strand single core PVC insulated copper cable as per IS: 694 for connecting various equipments to SEEB (v) Supply of copper lug sleeve for 3/16 cable Inspection: RDSO Inspection Charges:Borne by Railways Payment Terms: 100% after Supply.		95.00	17530.73	1665419.35

Page 8 of 15 Run Date/Time: 19/05/2025 17:03:53

**Tender No:** GSU-SNT-JP-2025-26-01 **Closing Date/Time:** 11/06/2025 15:30

	•					
12	13010400	Installation of Unit Maintenance Free Earth as supplied under item no. 13.3 of Chapter 13 of SOR . It includes ( i ) Digging the earth to the required depth. (ii) Insertion of electrode. (iii) Filling of earth enhancing compound (Approx.30 Kg) (iv) Provision of exothermic weld connections to copper tape of 25 mm x 6 mm x 150 mm to the earth electrodes. All material tools and features required for weld will be arranged by contractor. (v) This also includes CC cover 1.5 ft x 1.5 ft. 1 ft wall thickness C ainch with cover 3 inch thickness. Cables 35 Sq mm/ 16 Sq mm/10 sq mm for connecting earth to busbar, busbar to busbar and busbars to various equipments. Earth electrode of 17.20 mm dia and 3.00 meter long high tensile low carbon steel circular rods molecularly bonded with copper and outer surface (minimum copper bonding thickness of 250 micrones to made requirement of under writer's laboratories (UL) 467-2007 or latest. Copper strips of 150 mm x 25 mm x 6 mm to be welded with each earth electrode, copper strips of 300 mm x 25 mm x 6 mm for main equip- potential busbar, copper strips of 150 mm x 25 mm x 6 mm sub equip-potential busbar in relay room, power room and panel room. Gl strip 25 mm x 2 mm for ring formation of earth pits Earth enhancement material in bags for each Earth Electrode. Inspection chamber of site 300 mm x 300 mm x 300 mm x 300 mm x 300 mm k 300 mm k 300 mm k 300 mm x 300 mm k 300 mm x		95.00	7861.68	746859.60
1.2	12010500	testing.	Numbers	90.00	2222.01	170624.00
13	13010500	Supply of earth electrode as per standard practice and as per Drg No.CSTE/NWR/SOR/14A & 14B. It includes supply of GI pipe of 3m length. Inspection: Consignee Inspection Charges:None Payment Terms: 100% after Supply.		80.00	2232.81	178624.80
14	13010600	Installation of earth electrode as per standard practice and connecting it to the equipments which are required to be earthed including digging of earth pit 3 mtr deep and fixing earth electrode pipe, casting of cement concrete enclosure with cover as per Drg No.CSTE/NWR/SOR/14A & 14B. It includes installation of 7 strand GI wires as earth lead wires and soldering one end of earth lead wire to earth electrode and other end to block equipments, power equipments, cable sheath, signals etc. as per site requirement and as per instructions given by engineer incharge. Inspection: Consignee Inspection Charges:None Payment Terms: 100% after execution and testing.		80.00	558.20	44656.00

Page 9 of 15 Run Date/Time: 19/05/2025 17:03:53

**Tender No:** GSU-SNT-JP-2025-26-01 **Closing Date/Time:** 11/06/2025 15:30

				<u> </u>	
15	15010100	Supply of UTP CAT-6 cable in a roll of 305 meter and make Siemen/ Systemax / Panduit/ Tyco/ Krone/ AMP. Inspection: Consignee Inspection Charges: None. Payment Terms: 100% after Supply.	15250.00	18.74	285785.00
16	15011100	Supply of Pre-lubricated HDPE duct, 40 mm OD, 33 ID as per RDSO specification No. RDSO/SPN/TC/45/2013 Rev. 2.0 or latest. The item also includes supply of all the accessories of HDPE duct like end caps, collars, bends, couplers etc. Inspection: (i) RDSO/RITES if value of item in work more than 5 lakhs (ii) Consignee subject to procurement from RDSO approved vendors if value of whole item in work less than 5 lakhs as per extant instructions by Railway Board. Inspection Charges: (i)Borne by Railways (ii) None Payment Terms: 100% on Supply	48.00	48313.26	2319036.48
17	15011200	Laying of Pre-lubricated HDPE duct, 40 mm OD, 33 ID as per RDSO specification No. RDSO/SPN/TC/45/2013 Rev. 2.0 or latest. The item also includes installation of all the accessories of HDPE duct like end caps, collars, bends, couplers etc. Inspection: Consignee Inspection Charges: None. Payment Terms: 100% after Execution.	48.00	12078.31	579758.88
18	15013900	Supply of 20 Pairs Krone type D.P. box as per Tech spec, make Hensel or superior. Inspection: Consignee Inspection Charges: None. Payment Terms: 100% after Supply.	20.00	1963.08	39261.60
19	15014000	Fixing and wiring of 20 Pairs Krone type D.P. box as per Tech spec, make Hensel or superior. Inspection: Consignee Inspection Charges: None. Payment Terms: 100% after execution.	20.00	490.77	9815.40
20	15014500	Supply of DLP trunk 80X50mm with required all changeable internal/external angle, changeable flat angle, flat junction. Clips, joint for cover, end cap etc. make Legrand or superior. Inspection: Consignee Inspection Charges: None. Payment Terms: 100% after Supply.	180.00	654.77	117858.60
21	15014600	Fixing & wiring (Laying) of DLP trunk 80X50mm with required all changeable internal/external angle, changeable flat angle, flat junction. Clips, joint for cover, end cap etc. make Legrand or superior. Cable will be supplied by Railway and all other fixing material will be supplied by contractor. Inspection: Consignee Inspection Charges: None. Payment Terms: 100% after execution.	180.00	163.69	29464.20
22	15014700	Supply of DLP trunk 32X20mm with required all changeable internal/external angle, changeable flat angle, flat junction. Clips, joint for cover, end cap etc. make Legrand or superior. Inspection: Consignee Inspection Charges: None. Payment Terms: 100% after Supply.	500.00	110.87	55435.00

Page 10 of 15 Run Date/Time: 19/05/2025 17:03:53

**Tender No:** GSU-SNT-JP-2025-26-01 **Closing Date/Time:** 11/06/2025 15:30

			1	1	, ,	
23	15014800	Fixing & wiring (Laying) of DLP trunk 32X20mm with required all changeable internal/external angle, changeable flat angle, flat junction. Clips, joint for cover, end cap etc. make Legrand or superior. Cable will be supplied by Railway and all other fixing material will be supplied by contractor. Inspection: Consignee Inspection Charges: None. Payment Terms: 100% after execution.		500.00	27.72	13860.00
24	15019100	Supply of Double side Digital Clock suitable for platform area with GPS Synchronization in standalone mode as per Clause 5 of RDSO SPN TC 62/2008, (Rev 3.0) Amnd. 2 or latest with all required accessories. Inspection: (i) RDSO/RITES if value of item in work more than 5 lakhs or as per extant policy (ii) Consignee subject to procurement from RDSO approved vendors if value of whole item in work less than 5 lakhs or as per extant policy Inspection Charges: (i)Borne by Railways (ii) None Payment Terms: 100% after Supply		78.00	55627.03	4338908.34
25	15019200	Installation & commissioning of Double side Digital Clock suitable for platform area with GPS Synchronization in standalone mode as per instruction of site incharge with all required accessories and fixing arrangements to commissioning the item. Inspection: Consignee Inspection Charges: None. Payment Terms: 100% after commissioning.		78.00	6183.47	482310.66
26	15019300	Supply of Digital Clock suitable for Office Complex with GPS Synchronization in standalone mode as per Clause 6 of RDSO SPN TC 62/2008, (Rev 3.0) Amnd. 2 or latest. Inspection: (i) RDSO/RITES if value of item in work more than 5 lakhs or as per extant policy (ii) Consignee subject to procurement from RDSO approved vendors if value of whole item in work less than 5 lakhs or as per extant policy Inspection Charges: (i)Borne by Railways (ii) None Payment Terms: 100% after Supply		20.00	13207.11	264142.20
27	15019400	Supply of power cable 3 core 2.5 sq mm multi strand (36/0.3 mm dia) cable as per IS 694:1990 reaffirmed 1995 or latest suitable for railway electrification area shall be of reputed make like Delton, LAPP, Finolex, or superior. Inspection: Consignee Inspection Charges: None. Payment Terms: 100% after supply.		42000.00	33.02	1386840.00
28	15019600	Supply installation and commissioning of versatile PA horn speaker 30W with 100V LMT Taps 15, 10 and 5W complete with fixture of make Philips/Ahuja/AKG. Inspection: Consignee Inspection Charges: None. Payment Terms: 100% after commissioning.		190.00	1397.50	265525.00
29	15019700	Supply and installation of column speaker 15W with LMT all metal weather resistant, including fixtures and other material required. Inspection: Consignee Inspection Charges: None. Payment Terms: 100% after execution.		230.00	1681.05	386641.50

Page 11 of 15 Run Date/Time: 19/05/2025 17:03:53

**Tender No:** GSU-SNT-JP-2025-26-01 **Closing Date/Time:** 11/06/2025 15:30

					Total	18584179.53
37	15023000	Supply, installation & commissioning of HDMI Cable with connectors for Connectivity between Audio visual system Inspection: Consignee Inspection Charges: None. Payment Terms: 100% after commissioning.		200.00	238.34	
36		Supply of 10 pair switchboard indoor copper cable 0.6 dia as per specification IRS:TC:24:91. Inspection: Consignee Inspection Charges: None. Payment Terms: 100% after Supply.		2500.00	49.21	123025.00
35		Supply of 5 pair switchboard indoor cable 0.6 dia as per specification IRS:TC:24:91 or latest. Inspection: Consignee Inspection Charges: None. Payment Terms: 100% after Supply.		5000.00	23.62	118100.00
34		Complete wiring, testing, integration and commissioning of IPIS system as per scope of work. This shall includes all connecting cables, connectors etc. Inspection: Consignee Inspection Charges: None. Payment Terms: 100% after commissioning.	·	19.00	5412.98	102846.62
33		Supply of Mike AHUJA ACM-66CH or superior make. Inspection: Consignee Inspection Charges: None. Payment Terms: 100% after supply.		40.00	1644.19	65767.60
32	15020100	Supply & installation of Amplifier AHUJA TZA-4000EM or similar. Inspection: Consignee Inspection Charges: None. Payment Terms: 100% after execution.		20.00	17807.06	356141.20
31	15019900	Supply of 2 core screened/shielded multistrand PVC insulated wire (24/0.2 mm dia) for speaker load line. Inspection: Consignee Inspection Charges: None. Payment Terms: 100% after supply.		42000.00	35.22	1479240.00
30		Supply and installation of Monitor speaker with volume control model WS-664T or similar. Inspection: Consignee Inspection Charges: None. Payment Terms: 100% after execution.		50.00	1615.39	80769.50

### 4. **ELIGIBILITY CONDITIONS**

Important All documents uploaded and remarks / confirmation entered by the bidders against any eligibility condition shall be opened as part of technical bid only

#### **Special Financial Criteria**

S.No.	Description	Confirmation Required		Documents Uploading
1	The tenderer must have minimum average annual contractual turnover of V/N or V whichever less; where V= Advertised value of the tender in crores of Rupees N= Number of years prescribed for completion of work for which bids have been invited. The average annual contractual turnover shall be calculated as an average of "total contractual payments" in the previous three financial years, as per the audited balance sheet. However, in case balance sheet of the previous year is yet to be prepared/ audited, the audited balance sheet of the fourth previous year shall be considered for calculating average annual contractual turnover. The tenderers shall submit requisite information as per Annexure-VIB, along with copies of Audited Balance Sheets duly certified by the Chartered Accountant/ Certificate from Chartered Accountant duly supported by Audited Balance Sheet.	No	No	Allowed (Mandatory)

#### **Special Technical Criteria**

Page 12 of 15 Run Date/Time: 19/05/2025 17:03:53

**Tender No:** GSU-SNT-JP-2025-26-01 **Closing Date/Time:** 11/06/2025 15:30

S.No.	Description	Confirmation Required		Documents Uploading
1	(a)The tenderer must have successfully completed or substantially completed any of the following during last 07 (seven) years, ending last day of month previous to the one in which tender is invited: Three similar works each costing not less than the amount equal to 30% of advertised value of the tender, or Two similar works each costing not less than the amount equal to 60% of advertised value of the tender, or One similar work each costing not less than the amount equal to 60% of advertised value of the tender. (b) (i)In case of tenders for composite works (e.g. works involving more than one distinct component, such as Civil Engineering works, S&T works, Electrical works, OHE works etc. and in the case of major bridges - substructure, superstructure etc.), tenderer must have successfully completed or substantially completed any of the following during last 07 (seven) years, ending last day of month previous to the one in which tender is invited: Three similar works each costing not less than the amount equal to 30% of advertised value of each component of tender, or Two similar works each costing not less than the amount equal to 40% of advertised value of each component of tender, or One similar work each costing not less than the amount equal to 60% of advertised value of each component of tender, or One similar work each costing not less than the amount equal to 60% of advertised value of each component of tender. Note: for b (i) separate completed works of minimum required values shall also be considered for fulfillment of technical eligibility criteria for different components. (b) (ii)In such cases, what constitutes a component in a composite work shall be clearly pre-defined with estimated tender cost of it, as part of the tender documents without any ambiguity. (b) (iii) To evaluate the technical eligibility of tenderer, only components of work as stipulated in tender documents for evaluation of technical eligibility, shall be considered. The scope of work covered in other remaining components shall b	No	No	Allowed (Mandatory)
2	In case after award of contract or during execution of work it becomes necessary for contractor to change subcontractor, the same shall be done with subcontractor(s) fulfilling the requirements as per clause 7 of the Standard General Conditions of Contract, with prior approval of Chief Engineer in writing. Note for Item 10.1: Work experience certificate from private individual shall not be considered. However, in addition to work experience certificates issued by any Govt. Organisation, work experience certificate issued by Public listed company having average annual turnover of Rs 500 crore and above in last 3 financial years excluding the current financial year, listed on National Stock Exchange or Bombay Stock Exchange, incorporated/registered atleast 5 years prior to the date of closing of tender, shall also be considered provided the work experience certificate has been issued by a person authorized by the Public listed company to issue such certificates. In case tenderer submits work experience certificate issued by public listed company, the tenderer shall also submit along with work experience certificate, the relevant copy of work order, bill of quantities, bill wise details of payment received duly certified by Chartered Accountant, TDS certificates for all payments received and copy of final/last bill paid by company in support of above work experience certificate.	No	No	Allowed (Mandatory)

Page 13 of 15 Run Date/Time: 19/05/2025 17:03:53

**Tender No:** GSU-SNT-JP-2025-26-01 **Closing Date/Time:** 11/06/2025 15:30

3	Similar Nature of work: - Any Work involving installation & commissioning of IPIS/Train Indication Display Board/Coach Guidance Display Board Or Any work involving provision of IP-MPLS/VOIP based No System/Data communication Equipments/Video conferencing system including installation & commissioning of switches routers.	NA	Allowed (Mandatory)
---	---	----	------------------------

#### Bidders shall confirm and certify on the behalf of the tenderer including its constituents as under:

S.No.	Description
1	I/we the tenderer (s) am/are signing this document after carefully reading the contents.
2	I/We the tenderer(s) also accept all the conditions of the tender and have signed all the pages in confirmation thereof.
3	I/we hereby declare that I/we have downloaded the tender documents from Indian Railway website www.ireps.gov.in . I/we have verified the content of the document from the website and there is no addition, no deletion or no alteration to the content of the tender document. In case of any discrepancy noticed at any stage i.e. evaluation of tenders, execution of work or final payment of the contract, the master copy available with the railway Administration shall be final and binding upon me/us.
4	I/we declare and certify that I/we have not made any misleading or false representation in the forms, statements and attachments in proof of the qualification requirements.
5	I/We also understand that my/our offer will be evaluated based on the documents/credentials submitted along with the offer and same shall be binding upon me/us.
6	I/We declare that the information and documents submitted along with the tender by me/us are correct and I/we are fully responsible for the correctness of the information and documents, submitted by us.
7	I/we certify that I/we the tenderer(s) is/are not blacklisted or debarred by Railways or any other Ministry / Department of Govt. of India from participation in tender on the date of submission of bids, either in individual capacity or as a HUF/ member of the partnership firm/LLP/JV/Society/Trust.
8	I/we understand that if the contents of the certificate submitted by us are found to be forged/false at any time during process for evaluation of tenders, it shall lead to forfeiture of the Bid Security and may also lead to any other action provided in the contract including banning of business for a period of upto two year. Further, I/we and all my/our constituents understand that my/our offer shall be summarily rejected.
9	I/we also understand that if the contents of the certificate submitted by us are found to be false/forged at any time after the award of the contract, it will lead to termination of the contract, along with forfeiture of Bid Security/Security Deposit and Performance guarantee and may also lead to any other action provided in the contract including banning of business for a period of upto two year.
10	I/We have read the clause regarding restriction on procurement from a bidder of a country which shares a land border with India and certify that I am/We are not from such a country or, if from such a country, have been registered with the competent Authority. I/We hereby certify that I/we fulfil all the requirements in this regard and am/are eligible to be considered (evidence of valid registration by the competent authority is enclosed)

### Partnership firm/Joint Venture (JV) / Hindu Undivided Family (HUF) / Limited Liability Partnership (LLP) etc.

S.No.	Description
1	Partnership firm/Joint Venture (JV) / Hindu Undivided Family (HUF) / Limited Liability Partnership (LLP) etc. Please submit a certificate in the prescribed format (please download the format from the link given below). Non submission of the certificate, or submission of certificate either not properly filled in, or in a format other than the prescribed format shall lead to summary rejection of your offer.  ( Click here to download the Format of Self Certification)

#### 5. COMPLIANCE

Important All documents uploaded and remarks / confirmation entered by the bidders against any compliance condition shall be opened as part of technical bid only.

### **Commercial-Compliance**

S.No.	· ·	Confirmation Required		Documents Uploading
1	Please enter the percentage of local content in the material being offered. Please enter 0 for fully imported items, and 100 for fully indigenous items. The definition and calculation of local content shall be in accordance with the Make in India policy as incorporated in the tender conditions.	No	ΥΔς	Allowed (Optional)

#### **Undertakings**

Ī	S.No.	Description	Confirmation	Remarks	<b>Documents</b>
			Required	Allowed	Uploading

Page 14 of 15 Run Date/Time: 19/05/2025 17:03:53

**Tender No:** GSU-SNT-JP-2025-26-01 **Closing Date/Time:** 11/06/2025 15:30

#### Custom

S	.No.	•	Confirmation Required		Documents Uploading
1		All documents uploaded and remarks/confirmation entered by the bidders against any compliance condition shall be opened as part of technical bid only.		INIO	Allowed (Mandatory)

#### 6. Documents attached with tender

S.No.	Document Name	<b>Document Description</b>
1	ACSNo.1GCC-2022.pdf	Correction slip No 1
2	ACS-2toGCC-2022_2022-CE-1-CT-GCC-2022-POLICY_13.12.2022.pdf	Correction slip No 2
3	AdvanceCorrectionSlipNo_3ACS-311.pdf	Correction slip No 3
4	AdvanceCorrectionSlipNo_4ACS-4.pdf	Correction slip No 4
5	AdvanceCorrectionSlipNo_5GCCApril-2022.pdf	Correction slip No 5
6	AdvanceCorrectionSlipNo_6ACS-61.pdf	Correction slip No 6
7	AdvanceCorrectionSlipNo_7ACS-7.pdf	Correction slip No 7
8	AdvanceCorrectionSlipNo_8ACS-8.pdf	Correction slip No 8
9	AdvanceCorrectionSlipNo_9ACS-9.pdf	Correction slip No 9
10	AdvanceCorrectionSlipNo_10ACS-10.pdf	Correction slip No 10
11	GCC-2022-ACS2corrected.pdf	GCC 2022
12	TelecomCircularNo.09.pdf	Circular No 09
13	1-TD2025-26Dy.CSTEGSUCGDS19Station.pdf	Tender form and document
14	ImplementationofNTESwithIPISSTHQletterdated30-01-2025.pdf	NTES HQ letter
15	$Railway Board policy {\tt 1TTP} complience {\tt CCTVS} witch items procure ment.pdf$	TTP complience letter
16	trustedtelecomportalboardletter.pdf	trusted telecom portal board letter
17	NIT16052025.pdf	N IT

This tender complies with Public Procurement Policy (Make in India) Order 2017, dated 15/06/2017, issued by Department of Industrial Promotion and Policy, Ministry of Commerce, circulated vide Railway Board letter no. 2015/RS(G)/779/5 dated 03/08/2017 and 27/12/2017 and amendments/ revisions thereof.

As a Tender Inviting Authority, the undersigned has ensured that the issue of this tender does not violate provisions of GFR regarding procurement through GeM.

Signed By: PRADEEP PUNIA

**Designation:** Dy.CSTE/GSU/JP

Page 15 of 15 Run Date/Time: 19/05/2025 17:03:53